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 AB is parallel to CD. 

 Calculate the value of x. 

 
 

 
 

 
 Answer x =   [3] 
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  Use the information in the diagram to fi nd the value of a.

 Answer a =  ...............................................   [2]
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  Find the value of p.

 Answer p =  ...............................................   [2]
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	  Find the value of x.

� x�=  .................................................. [1]
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	 Triangle ABC is isosceles and AC is parallel to BD.

	 Find the value of a and the value of b.

	 a =  .................................................. 

	 b =  .................................................. [2]
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 The diagram shows two parallel lines PAQ and SBCT.
 AB = AC and angle QAC = 43°.

 Find the value of x.

  x =  ....................................... [2]
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